Efficiency vs P,

~ 0.8

o n
g’ o
L 2 e
o o
c L
O O ) R R R R R R ) ~EEREEEEEEE
o L
IGZJ - : :
O] SRR oo + :
0.4:— ----------------------------
0.3Frrrieerreei
0.2F e bl
01:_ """ ",-3-' """""""""
F :“o-"
n L ] |
o W TFF 5
I 1T : 3
o o + L4
| peR R - 4 -+ {4+ -4 L SR T R
: FI1F
5 T+ | 1]
0.95

107 1 10 prT (Ge\})o3

—=— DQMstep3 TT_CKF
—e— DQMstep3_TT_default
—+— DQMstep3_TT_defaultNEWTepol10

= 05

[
>

thiciency
o
D

]

Ratio

£0.18k
Z .18f
2
5 0.16
£0.14
(0]
oH ] ]
1.WJ N ] Y N
'% t: 4 1411 & b {4
x© i ] : T 1
1P A b 4 - e
A ] : 4
i 4+ 4 I : 408 -+
0.951 L ; ]
-3 -2 -1 0 1 2 3




	Contents
	Page 1


